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JERRH R =X 147, 378, 000
HEELT = 21, 378, 061
PEHI L (ICT) = 27,864 | HEHI(ICT) 90 m3
W A7 vy b BEESE L 10, 000m3 LA 50, 000m
AT ;
AR AT (ICT) = 20, 317,770 | B& A (E52) A& 1 (ICT) 11, 300 m3
FEIA (-27) 11, 600 m3
+1 850, 000m3AT ;
A 11, 600 m3
0 Cadl- EHIRY £5T) ;
EEEEIE T (ICT) = 1,032,427 |{EMEEETE (@& L) (ICT) 1,870 m2
EikEO KL ;
MR B T = 5,936, 736
E#E T = 5,936, 736 | B R A ALEE 804 m3
2mZAB A 5mEL @AY I 220kg/m3 ;
IR = 458, 660
fiA T 2 458,660 | N TiEZ 680 m2
V7,
PEEET 2 112, 185, 535
EELT = 749,179 |RIE D (FEHI) 1 X
+4)
i 1 X
+4)
HRL X
T FTHERE T (&4 BT = 921, 150 | E /) HfEkE 15 m3
Im% 48 X 2mAw 18-8-40 (FJF)
SR TR L BE - T AR BE T 2 98, 867, 047 | fifi 1B S 110 m
18-8-40 (B ) ;
fitii i R A AN - R 635 m2
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HERA TR o RE

T BEAA B 19, 186 m
HERA TR RE

FEHL-HBH L, FED 6, 342 m3
HERA TR RE

BEAKT 7/ M@ 552 m3
RC-40 ;

T A 43 B -1 740 m2

i U 54 m
IE 0.3m ;

HEKE #EE 156 m
RE EFE 200mm ;

GO B4R R T =X 1 11, 648, 159 | fifiod L BESLHR 2 m

18-8-40 (B JF) ;

o8 T BERE A RNT - 3R 1E 50 m2
Fyvan L

T BEAA B 1,924 m
Fyvan L s

FEHL-HH L, FED 623 m3
Fyvan L s

BEAKT 7/ M@ 23 m3
RC-40 ;

Bl FTRE 16 m3
24-12-25(20) 47 ;

HEKE #EE 3 m
RE EFE 200mm ;

EEEET = 1 959, 347
TA7 7 Ml T X 1 959, 347 | T/E ML (HLE - BRJE ) 384 m2

FEITyYr77 RC-40 AV E 100mm ;

g (I - BIF ) 384 m2
AR A2 (20) AH%5/E 50mm 1. 4mPd |3
.OmELF
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HEKHEEY T = 1 5,725, 191
e+ T 2 1 76,449 |FRIEY 1 2V
+4)
HEL 1 X
AR T = 1 2,348,072 |7 VA MUBLAITE 228 m
300X 300 ;
7° Vv A URURITE 7 m
600X 600 ;
BT 2 1 111,480 |FRAMTIRF IR 6 m
3007 T-25 ;
AR v T 2 1 661,990 | BT HHEKME 3 (£
BUBFTHS 500 X 500X 500 18-8-25 (E4A) 1M
VEZEARFIEE
BGHT K 1 (£
BUBFTHS 500 X 500X 600 18-8-25 (E4A) 1M
VEZEARFIEE
BGHT K 2 (£
BUBFTHS 500 X 500X 700 18-8-25 (E4A) 1M
VEZEARFIEE
BGHT K 1 (£
BUBFTHS 500 X 800X 1400 18-8-25 (FE¥F) 1:i
VEZEARFIEE
= 5 r5e
500X 500 M ;
= 1 r5e
500X 500/ 7" V-Fv) 2 T-25 ;
= 1 r5e
500X 800 7 V-V 2 T-25 ;
HEAKT = 1 2,527,200 |/NEEHEAK 114 m
300X 300 18-8-25 (& ¥F) ;
HEHE A E 1 E10
$ 300 M 4% ;
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TEHX4y « Tfd - FER B Az £ & F #m il BN
TE AT R itk T = 352, 182
[H B R =Y 352,182 [BEV av)) -} 158 m2
18-8-25 (& JF) J&5cm ;
HEYE T Y 196, 260
HEETE LT X 107,730 |27~ HgE L 10 m3
MEAHARETEY) FEAOE T
ELERR O W 1 F2V
TAT 7V MEHEERR 15emPA T
A IR A 100 m2
TAT7 MR EEERRE 15emlL T
TR AL T =Y 88,530 | BaEM 10 m3
/)Y - hik (AT
i SLikiing 10 m3
TAT7IV NS
RISy 10 m3
/)Y - hik (AT
RISy 10 m3
TAT7IV NS
RE% T = 186, 028
8 REEY) T = 41,428 |+mH 56 9%
(KA
B EHT = 144, 600 | A3 EFHEEAK B 1 F2V
[ERAE Xy = 147, 378, 000
HiE = 18, 630, 047
BISTI S = 4, 364, 047
TE = 1,759, 000 | HE AL ER AR o) Rk ST s 2 1 =
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HeffrE sy = 1,265,047 |{R5FEHL(ICT) 1 =

VAL E 2 (ICT) 1 F2V

TH W % AT R 1 =

AN e AvE HERERE 1 F2V
BGRESGESE (5 L) = 1, 340, 000
B (FEEHL) = 14, 266, 000
Wi TR = 166, 008, 047
Bl gy = 50, 530, 000
T =5l = 216, 538, 047
— R A = 33, 491, 953
T =AM = 250, 030, 000
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